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OIPNF=ENE-—F} (che: & )
= & A = X E A -
s = =g A HE =)o 5 & g = NENH HEA X =N g &
= Al 373,089 365,285 7,804 | & Al 373,089 365,285 7,804
& = =2 200,000 200,000 0|dl & &t & At & Hl 200,000 200,000 0
2 S =2 0 0 ol A & A & i 0 0 0
Xt e = 0 0 o)l & 2 <& i 0 0 0
I T 0 0 ol =2 =3 oW 1,000 1,000 0
o &3 &= 3 =+ 0 0 0l & = 0 0 0
o x = 3 = 166,789 158,885 7,904 | O Xl = 172,089 164,285 7,804
Oll o= = 0 0 oSl 3as 0 0 0
0l At o= 2 6,300 6,400 A0l == =& 0 0 0
| Et = 0 0 vl Et Xl = 0 0 0
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49 o
200 M2 =g 6,300 6,400 A 100
210 &AM == 6,300 6,400 A 100
216 Ol At==¢ 6,300 6,400 A 100
216-01 3030l At== 6,300 6,400 A 100
O330= 0k 6,300,000& = 6,300
700 BEE+LSLUHEAN 366,789 358,885 7,904
710 B2 S 166,789 158,885 7,904
714 Ol Xl = 3l = 166,789 158,885 7,904
714-01 OMIXI =2l 166,789 158,885 7,904
ONX=z &= 166,789,000 = 166,789
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N estdE =X N (ZUXpIN2) 200,000 200,000 0
FOXH JIZ2 28 200,000 200,000 0
307 2I2+01 & 50,000 50,000 0
02 QIANAMAYEE 20,000 20,000 20,000 0
OFANAEAN 282 L 2HH|
10,000,0008 * 14! = 10,000
OFQUXAHAH 2NEE XL
10,000,0008 * 14! = 10,000
04 DIRHEAFAFG & E 30,000 30,000 30,000 0
OXAESHE ZBXS HAX
30,000,0008 * 14l = 30,000
402 QI RHE0| A 150,000 150,000 0
01 QAMEAYEE 150,000 150,000 150,000 0
ONFesME =802
150,000,000 * 14! = 150,000
ME e s (K ea) 172,089 164,285 7,804
SENE(FUXNAI2) 172,089 164,285 7,804
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HE2IZH (N =) 1,000 1,000 0
Jl2dH (FeUX&N3) 1,000 1,000 0
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201 2et24Ed| 1,000 1,000 0
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